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Q.8

Q.9

Q.10

Q.11

Part A (English)

Relics of ancient civilizations "GILUND were found near which river and in which district?

A.Ruparel, Bharatpur B. Banas, Rajsaman

C. Luni, Pali D.Kbhari, Bhilwara

The language of the book, ‘Prithviraj Vijaya’ written by Jayanayak Bhatt was:
A. Persian B. Dingal

C. Sanskrit D. Pingal

The copper plant at Khetri and zinc plant in Debari was established in 1960's with support
from UK. Today majority holdings in Debari plant has been sold to which industrial group?

A. Vendanta B. Reliance
C. Tata D. Birla
Ira; Chap and Moran are tributaries of which river?

A. Banas B. Chambal
C. Luni D. Mahi

The biggest cannon in the world is in which fort?

A. Chittorgarh Fort B. Mehrangarh Fort

C. Jaigarh Fort D. Nahargarh Fort

American Cotton (Kapas) is grown in which district of Rajasthan?

A. Ganganagar B. Sikar

C. Dausa D. Bharatpur

Which Jaipur ruler can be credited for having the buildings of Jaipur painted pink?
A. Sawai Mansingh B. Kalyan Singh

C. Sawai Ram Singh 1l D. Mirza Raja Jaisingh

Bharateshwar Bahubali Ghor (Year 1168) is the oldest Jain litrary work of Rajasthani
language. This describes the fierce fight between Bharateshwar & Bahubali. Who is the
writer of this book?

A. Jindutt Suri B. Brijsen Suri
C. Palhan D. Vijaysen Suri
""Saraswati Bhandar' a museum famous for paintings is located in?
A.Jodhpur B. Udaipur

C. Bundi D. Kota

Which bank on 15 November 2014 won Custodian of the Year 2014 award?
A. Standard Chartered Bank B. Deutsche Bank
C. Industrial & Commercial Bank of China D. Royal Bank of Canada

Mangalyaan has been named amongst the first best inventions of 2014 in the
list published by Time magazine?

A. 100 B. 50

C.5 D. 25
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Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

Q.22

Barack Obama became the President of America to participate in India's

Republic Day celebrations during January 26, 2015?

A. Second B. First

C. Third D. Fourth

Indian Railways has recently flagged off the first CNG (Compressed Natural Gas) based two

trains from a station in which state?

A. Bihar B. Jammu and Kashmir

C. Haryana D. Guijarat

Recently American geologists discovered the most abundant mineral named as
on earth’s lower mantle.

A. Calcite B. Aragonite

C. Muscovite D. Bridgmanite

World Health Organization, in November 2014, declared following country as free of the

Ebola virus?

A. Democratic Republic of Congo B. Nigeria

C. Liberia D. Sudan

Who among the following in January 2015 took charge as the first vice-chairman of the

newly-created NITI Aayog?

A. V. K. Saraswat B. Bibek Debroy

C. Sindhushree Khullar D. Arvind Panagariya

Time bound Guarantee for per household per year under MGNREG

A. More than 100 days B. Up to 100 days

C. 50 days D. 75 days

Wage and Material ratio for permissible works under MGNREGA

A. 50:50 B. 40:60

C. 60:40 D. 30:70

In 2013-14, total persons worked under MGNREGA in Rajasthan are

A. 40-50 Lakh B. 30-40 Lakh

C. Less than 20 lakh D. More than 50 Lakh

Minimum percentage of Women in total under MGNREGA Work should be:

A. At least half B. At least one-third

C. One-fourth D. Two-third

Employment is provided under MGNREGA within

A. A week of application B. 15 days of application

C. A month of application D. None of these

Which statement is valid?

A. 1KB = 1024 bytes B. 1 MB=2048 bytes

C. 1 MB = 1000 kilobytes D. 1 KB = 1000 bytes
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Q.23

Q.24

Q.25

Q.26

Q.27

Q.28

Q.29

Q.30

Q.31

Q.32

The octal equivalent of 111010 is

A. 81 B. 72

C.71 D. None of above

Antivirus software is an example of:

A. Application software B. Office software

C. Operating system D. Utility software

A Student wants to create "Digital story Collection™ on the famous storyline "Rabbit and the

tortoise. He has downloaded some images of tortoise, rabbit and forest. He wants to add
watermarks, stylish text and images but is not interested in any animation. Which office tool
should he use?

A. Word processing Software B. Presentation software
C. Spreadsheet software D. Database management system
WAN stands for
A. Wap Area Network B. Wide Area Network
C. Wide Array Net D. Wireless Area Network
There are eight mango trees in a straight line. The distance between each mango tree with
other is 3 metres. What is the distance between first tree and eighth tree?
A. 24m B. 27 m
C. 30m D. 21m
A father is 30 years older than his son. He will be three times as old as his son after 5 years.
What is the father's present age?
A. 35 B. 45
C. 40 D. 30
If 34 men completed 2/5th of a work in 8 days, working 9 hours a day. How many more men
should be engaged to finish the rest of the work in 6 days, working 9 hours a day?
A. 89 B. 98
C. 102 D. 142
A man wants to reach a window which is 40 feet above the ground. The distance from the
foot of the ladder to the wall is 9 feet. How long should the ladder be ?
A. 9 feet B. 81 feet
C. 41 feet D. 49 feet
Choose the correct alternative that will continue the same pattern and fill in the blank spaces.
11,13,17,19, 23, 29, 31, 37,41,
A. 43 B. 47
C. 51 D. 53
Choose the correct alternative that will continue the same pattern and fill in the blank spaces.
15, 31, 63, 127, 255,
A. 513 B. 511
C. 523 D. 517
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Q.33

Q.34

Q.35

Q.36

Q.37

Q.38

Q.39

Q.40

In a certain code DOWN is written as 5@9# and NAME is written as #6%3. How would
MODE be written?

A. %653 B. %@63

C. %5@3 D. %@53

At what angle the hands of the clock inclined at 15 minutes past 5 ?

A. 52 % degrees B. 67 % degrees

C. 88 % degrees D. 93 degrees

Give the correct option in the following sentences:
the/gifts/young/ones/on/give/elders/festivals

A.young ones give gifts on festivals to elders

B. elders give the young ones gifts on festivals

C. ones give gifts the elders, young ones on festivals

D.give gifts to elders and young ones on festivals

Make affirmatives of following negative:

I haven't had any tea

A. | have tea B. I have had some tea
C. lam having tea D. I has some tea

Fill in the blanks with appropriate articles:

passengers waited as flying mail was hour late.
A. The, a, an B. An,the, a
C. The, the, an D. The, an, the
veflgs 9 # fIo_d & | X@ifhd et 1 g9 3—
A. gaaT B. ToaeH
C. fga== D. g8 & ®1g 7T&l
AR & T4 uroft daer g 3l W & < Fhd B |1 IR BT I@ifhd 37 B BRE ©
A. ®ar B. &9
C. & D. arferaxor
T, ST A 9gd 9% Ufed O 9t & v@ifehd e 9§ WiadTad el 991sy
A. dfsarsa B. uifs@
C. dgsr D. s18 9 I3 81
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Q.1

Q.2

Q.3

Q.4

Q5

Q.6

Q.7

Q.8

Q.9

Part A (Hindi)
U ARIar ‘Riere’ & s/aRy Bl 741 & fhar &R s 7ot # fAel 82

A. TURT, WRAYR B. 991, IIoTA<
C. I, urell D. @RI, ¥ierdarer
TP e R YRSl fasia’ &1 wrer ofi—

A BRA B. f&we

C. & D. forar

A 1960 & TG H WG fHAT TAT| /@ IR WIF HT  AABI BT §9 T B 99
fem T 7 |

A. JeT=T B. Rama=

C. Ter D. fasan

T, 911 3R AR+, fha T4 & a8red 87

A. 9919 B. T&cl

C. o D. @r&!

favg &1 wed g1 AU fH9 fhar # Reg €7

A. facireTe gt B. HeRIE g
C. S/e g D. -TexTe gt
IMREBT HUNT o= & fba el # Il 27

A. SRR B. IR

C. qmr D. ¥RAR
SRIYR &1 ARG TR T[Adl T HRa™ HT 217 32 a1 Sfar g—
A. FaTE 9HRiE B. ®caror g
C. gars yHiiE fgd D. fastt o wafiig

HRAYAR qIgdieT OR (1168 $.) TR | HT T U SiF T=eF &, o wRaeaR 3R
qgafer & 919 gY OR g &1 99 B | 3B oEd B o?

A. Rrea R B. sori R
C. Ucgu D. fasrRe R
o wetr @ forv uRig USRI ISR’ HEl 87
A. SIEQR B. SEIR
C. g D. &Il
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Q.10 & §& ° FawR 2014 A HICSIT 3iH & IR 2014 HT Rgad Sidr?
A EsS Tcs dh B. SJ¥ d&
C. SUSEIIA TUs HERTIS d& 3% arg-T D. I I ATh TS

Q.11 TTsH URNGT 7 HIIM BT 2014 B TSl FAHD ... sfaspRi & dra # AT fbam B |
A. 100 B. 50
C. 5 D. 25

Q.12 AP IAEMAET 26 ST 2015 & AR ARG & AU (GG FARE H 9HT o ATl ...

MRe Wgufy 87

A. T B. Ugdl
C. TRt D. 3o
Q.13 IR XA 1 Y Aol (PUTS TR 11¥) ARG &I NeTS! b 59 & I A
AT H1?
A. fegr B. ST%] Ud TR
C. siRarom D. ORI
Q.14 BT B H R YIS TDI BT Yo B el Ade IR Fad UgR A H e [EIEN
D @IS DY |
A. HTse B. ©IFge
C. ATpIarsel D. facmTse

Q.15 fdva wRed |ad q FdaR 2014 H b < Pl Salell arIRd § Jad < =Ifvd fhar
g7

A. AHAIHE TR BN B. SgoiiRaT
C. drgdRar D. gsH
Q.16 fo=faRad & & fra SHaY 2015 # Fafafda T MR & SUTTeT BT FRIYR FHTAT?
A. A&, IRwd B. fid® IR
C. R¥egsh geeR D. sRfde u=rfsan
Q.17 W & ded Ufd a¥ ufd =R & fou wHy arey TRE-
A. 100 fe=T 1 <1fdre B. 100 fa7 d& @& forw
C. 50 fa= D. 75 faa
Q.18 HIN & q8d AT Bl &g da- AR A JuT—
A. 50:50 B. 40:60
C. 60:40 D. 30:70
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Q.19 2013—14 H HRIT & T ISRAT § BRI PR dlel el Afdd—
A. 40—50 TG B. 30—40 T
C. 20 9g J &H D.50 oIRg & SITET

Q.20 HIXI BT H AEHATAT BT FAaH Yl s ANST—

A.HH I HF Yo afgamd B. %9 9 &9 % #Afead
C. Y4 #Afgeg D. % #fgamd
Q.21 HII & T8 RIGNIR Y& b SRRt
A. AT U9 & TUh geiE | B. Ui 9 & 15 fa7 #
C. udHr v & U A1 | D. 399 ¥ ®lg ol
Q.22 DI AN A &—
A. 14T = 1024 913SH B. 1UAdl = 2048 913¢H
C. 17Ad = 1000 fHararse D. 134l = 1000 dTSCH
Q.23 111010 BT ATENT IRIER (3ffged gadicic) &—
A. 81 B. 72
C. 71 D. SWiad ¥ A PIs 8!
Q.24 TEARIRE AHeRR 171 $T U& IIERIT 23—
A. IMdST AFedAR B. BTl AITCdAR
C. JTRfeT Req D. STARTET IiredaR

Q.25 Td BIF URIg PBFI WY AR g R SRice $eF GUs a1 =1edl & | a8
FHBIN, T AR ST & HY BIAAl DI SSACS AT © | I8 ACHD IRAZITeT IS
IR Bfadl BT SirsT aredT ©, offed fodt O oiee & o8 ool 781 8 | S99

........ BT IUIRT HIAT ATMRY—
A. 98 TR |itedaR B. Ufd \ltcdR
C. Wedlle dfredeR D. ST Y&ere Jorell
Q.26 a9 (WAN) T aifiurg 28—
A. 99 TRAT weasd B. d1se URAT wicad
C. d188 3R - D. aReN TRAT Aead
Q.27 TP Wl TS H M3 MW & US & | YD M & Us Bl g g ¥ 3 AR & & | Ugal
Tq 3fed Us & 919 B [ T 57
A 24 W B. 27 #I
C. 304 D. 21
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Q.28

Q.29

Q.30

Q.31

Q.32

Q.33

Q.34

Q.35

Ueh fUGT 31U Y ¥ 30 9¥ g1 2 | 98 UM 9y 91 U+ YF ¥ 3 AT g7 8 S | fudr
@1 qAAE Y RAT 272

A. 35 B. 45
C. 40 D. 30

afe 34 3MEH 2/5 &, 8 fad # ufdfas 9 °C aka R & €, AT I9 BRI &I 6 faT #
gfifes 9 8¢ BRI o T B & forg b= ifde mefial &1 smaggsdndr 8Rf?

A. 89 B. 98

C. 102 D. 142

Tdh IMEHl Ueh Raga! dd Uga @medl & Sl oMM ¥ 40 ®IC W o | AIgl &7 e
T (IR) faaR ¥ 9 e & ¢ R g | WS fha ol 8rfi?

A. 9 B B. 81 Wi

C. 41 BIC D. 49 Wi

el fahed T a9 &R S FId e BT SIRY T @R Read e # wR—
11, 13, 17, 19, 23, 29, 31, 37, 41,.7....

A. 43 B. 47
C. 51 D. 53

T fahed BT a9 BN ST T Jeo BT STRT T R Red e § wR—
15, 31, 63, 127, 255,..7....

A. 513 B. b1l

C. 523 D. b17

v 9 e § DOWN & 5@9% & w9 # for@r wirar & vd@ NAME &1 #6%3 & w4
# forar orar 8, @ MODE &1 &9 forar Simeen?

A. %653 B. %0@63

C. %5@3 D. % @53

5 quldR 15 e TR GSI BT GSAl BT DIV T BAT?

A 52% Rfy B. 67% Rfy
C. 88% R D. 93 foul

Give the correct option in the following sentences:
the/gifts/young/ones/on/give/elders/festivals

A.young ones give gifts on festivals to elders

B. elders give the young ones gifts on festivals

C. ones give gifts the elders, young ones on festivals
D.give gifts to elders and young ones on festivals

Page 8



Q.36

Q.37

Q.38

Q.39

Q.40

Make affirmatives of following negative: | haven't had any tea
A. | have tea B. I have had some tea
C. I am having tea D. I has some tea

Fill in the blanks with appropriate articles:

passengers waited as flying mail was hour late.
A. The, a, an B. An, the, a
C. The, the, an D. The, an, the
geflg ™ ¥ fdaRd 2| ¥@ifdhd g &1 a9 3—
A. IgII B. Udhdad
c. fga= D. 379 ¥ Pis el
AR & T U0 dadl 319+ il A B <& Ahd & || a1 BT XGifba 31T
PITIT BRP B
A. &al B. BH
C. dYU D. 7S
Y. ST A8 98d 99 Ufsd o | are & \Eifhd Wed | HEadrad Al

ERIEN
A. tfsdrsH B. Uifsw@
C. UsI D. 398 9 BIg el
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Q.41

Q.42

Q.43

Q.44

Q.45

Q.46

Q.47

Q.48

Q.49

Q.50

Part-B
When transformer is subjected to short circuit, the adjoining turns of the same winding
experience

A. An attractive force B. A repulsive force
C. No force D. Depends on operating point of the B-H
curve
The function of oil in a transformer is
A. To provide lubrication B. To provide protection against lightning
C. To provide protection against short D. To provide insulation and cooling
circuit

In an induction motor, if the air-gap is increased
A. Speed will reduce B. Efficiency will improve
C. Power factor will be lowered D. Breakdown torque will reduce

In a self excited induction generator, to keep the frequency of generated voltage constant
with the increase in load, the speed of the induction machine should be

A. Increased B. Decreased
C. Maintained less than the rated D. Maintained more than the rated
synchronous speed synchronous speed

Which type of motor is most suitable for a computer printer drive

A. Reluctance motor B. Hysteresis motor
C. Shaded pole motor D. Stepper motor
The stator and rotor pole number may be different in a

A. pole changing induction motor B. reluctance motor
C. repulsion motor D. synchronous motor

In order to have a lower cost of power generation

A. The load factor and diversity factor B. The load factor and diversity factor
should be low should be high.

C. The load factor should be high and D. The load factor should be low and
diversity factor should be low. diversity factor should be high.

The surge impedance loading of a 220 kV, over head line is approximately

A. 121MW B. 121 kW

C. 12.1kw D. 121,000MW

Hollow conductors are used in transmission lines to

A. Reduce weight of conductor B. Improve power transfer capability
C. Reduce corona D. Increase stability

Shunt reactors are needed
A. To boost receiving end voltage under B. To boost receiving end voltage under

light loads heavy loads
C. To bring down receiving end voltage at D. To bring down receiving end voltage
light loads under heavy loads
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Q.51

Q.52

Q.53

Q.54

Q.55

Q.56

Q.57

In a load flow solution V;=1.083 Z 15° pu and V =0.986 / -2°pu. What is the direction of P
and Q flow in line i-k

A. PandQ flow fromito k B. P flows fromito k and Q flows fromkto i

C. Both flow fromkto i D. Data is insufficient to determine direction

The incremental fuel costs of two plants is given by
dF1

dP1 =0.01P;+20 $/MWhr
dF2

dP2 =0.01P,+1.6 $/MWhr
For economic schedule of a load of 180 MW
A. P =100 MW; P, =80 MW B. P1=90 MW ; P,=90 MW
C. P, =80 MW; P,=100 MW D. P, =120 MW ;P, =60 MW

A turbine generator set has a regulation constant 5% on the generator rating ofLOOMVA,
50Hz.The generator frequency decreases by 0.02 Hz. The increase in turbine output power
for steady state operation is

A. 0.8 MW B. 8MW

C. 3.6 MW D. 0.2 MW

For an arcing fault where the arc resistance is significant an impedance or admittance
relay will

A. Over reach B. Under reach

C. The reach of relay is unaffected D. The reach will depend on the arcing
resistance and may under reach or over
reach.

A list of relays and power system components protected by them are given in group | and
group Il. Match them

Group | Group 11
I.  Buchloz relay 1. Transformers
Il.  Under frequency relay 2.Turbines
I1l. Distance relay 3.Bus bars
IV. Differential relay 4.Shunt capacitors

5.Alternators
6.Transmission lines.

A. 1-6, I1-5, I1I-1, IV-4 B. I-1, 1I-2, ll1-4, IV-6
C. I-1, lI-5, 111-6, V-3 D. 1-2,11-5, II-6, IV-1
In HVDC transmission system, rectifier firing angle alpha is kept near
A. 0degree B. 15 degree

C. 30 degree D. 90 degree

The function of the starter in DC machines is:

A. To avoid the excessive currents at the B. To control the speed
starting

C. To avoid armature reaction D. To avoid excessive heating
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Q.58

Q.59

Q.60

Q.61

Q.62

Q.63

Q.64

Q.65

Q.66

Which of the following motors is used for rolling mills?
A. DC shunt motor B. DC cumulative compound motor
C. DC series motor D. DC differential compound motor

Armature reaction is attributed to:
A. The effect of magnetic field setup by  B. The effect of magnetic field set up by field

armature current current
C. Copper losses in the armature D. The effect of magnetic field set up by back
emf

The brushes of a DC machine are physically

A. Placed in the interpolar axis and B. Placed in the interpolar axis and
electrically connected to the coils in electrically connected to the coils in the
the polar axis interpolar axis

C. Placed in the polar axis and D. Placed in the polar axis and electrically
electrically connected to the coils in connected to the coils in the polar axis

the interpolar axis
The brake test for the determination of the efficiency of a dc machine is:
A. An indirect method B. A regenerative method
C. Addirect method D. None of these

The most economic method of electrical braking is

A. Regenerative braking B. Dynamic braking with self excitation
C. Dynamic braking with separate D. Plugging
excitation

The no load voltage of a generator is 230V and the rated load voltage is 200V, then the
voltage regulation is

A. 5% B. 10%

C. 15% D. 20%

The full load copper loss and iron loss of a transformer are 6400 W and 5000 W
respectively. The above copper loss and iron loss at half load will be

A. 3200 W and 2500 W respectively B. 3200 W and 5000 W respectively

C. 1600 W and 1250 W respectively D. 1600 W and 5000 W respectively

A transformer has a core loss of 64 W and copper loss of 144 W, when it is carrying 20%
overload current. The load at which this transformer will operate at the maximum efficiency
is

A. 80% B. 66%

C. 120% D. 44%

The function of damper winding in synchronous motor is to provide starting torque and
A. To reduce speed B. To prevent hunting

C. To increase speed D. None of these
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Q.67

Q.68

Q.69

Q.70

Q.71

Q.72

Q.73

Q.74

A 3-phase 400V, 50 Hz synchronous motor is working at 50% load. In case an increase in
the field current of motor cause a reduction in the armature current, it can be concluded that
A. The motor is delivering reactive power B. The motor is absorbing reactive power form
to the mains the mains
C. The motor is neither absorbing nor D. None of these
delivering reactive power

If the excitation and terminal voltage of a synchronous motor are kept constant and the load
is increased then

A. Armature current decreases and power factor becomes more leading

B. Armature current increases and power factor becomes more leading

C. Armature current increases and power factor becomes more lagging

D. None of these

A 500V, 50 Hz motor takes a full load current of 40A at 0.85 p.f lagging. If a capacitor of
80WF is connected cross the motor terminals, the p.f becomes

A. 0.72 B. 0.85

C. 097 D. 1.00

The purpose of skewing of rotor slots in induction motor is
A. To reduce magnetic hum of motor B. To increase the distribution factor
C. To reduce the locking tendency of D. To increase the breadth factor
motor
An induction motor has a slip of 2% at normal voltage. The slip when developing the same
torque at 10% below normal voltage is

A. 1.65% B. 2.47%
C. 2.22% D. 1.82%
A feedback system has its characteristic equation as 1 + ok =0
s(s+1)(s+2)
The centroid of the asymptotes will be equal to
A. -1 B. -2
C. -3 D. -4
If the system specifications are given in time domain, best approach for designing is
A. Nyquist plot B. Bode’s plot
C. Root locus D. None of these
Cs)

The transfer function R(s) of a closed loop system shown in the figure below will be
u

R ; G,=90
GG,
A 1+G,6G:H
1
C. 1+6G,G.H
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Q.75  The value of K for which the system S* + 35 + 3S + 1 + K = 0 becomes stable is

A. K>8 B. K=8
C. K=7 D. None of these
Q.76  Phase margin of a system is used to specify
A. Relative stability B. Absolute stability
C. Time response D. Frequency response

Q.77  Which input yields natural response

A. Step input B. Sinusoidal input
C. Impulse input D. Ramp input
Q.78 If the gain of an open-loop system is doubled, the gain margin
A. s not affected B. Gets doubled
C. Becomes half D. Becomes one-fourth

Q.79  If the stability error for step input and speed of response be the criteria for design, what type
of controller would you recommend?
A. P controller B. PD controller
C. Pl controller D. PID controller

Q.80  Which of the following terms is not a specification of a control system

A. Band-width B. Time response
C. Phase margin D. Nyquist plot
Q.81  damped natural frequency of an under-damped second-order system is given by
A. Mn B E_y(’\)n
C.o, y1—£7 D. None of these

Q.82  Consider the star network shown in the given figure. The resistance between terminals A
and B with C open is 6€2, between terminals B and C with A open is 11 Q, and between
terminals C and A with B open is 9 Q. Then

A% * %%
A.RA:4Q,RB:29,RCZSQ B.RAZZQ,RB:4Q,RCZ7Q
C.RA=3Q,RB=3Q,RC=4Q D.RA=SQ,RB=IQ,RC=IOQ

Q.83  If each branch of a Delta circuit has impedance V3 Z, then each branch of the Wye circuit
has impedance
A.ZN3 B. 3Z
C.3V3Z D. Z/3
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Q.84  About the Fourier series expansion of periodic function it can be said that
A. Even functions have only a constant term and cosine terms in their expansion
B. Odd functions have only sine terms in their expansion
C. Functions with half-wave symmetry contain only odd harmonics
D. All of these

Q.85 A circuit with a resistor, inductor and capacitor in series is resonant at f, Hz. If all the
component values are now doubled, the new resonant frequency is

A 21, B. still f,
C. f,/2 D.f./4

Q.86  Maxwell’s divergence equation for the magnetic field is given by
A /X B=0 B. V.B=0
C.VXB=p D. .B=p

Q.87  Double integration of unit step function would lead to
A. An impulse B. A parabola
C. Aramp D. A doublet

Q.88 In a Kelvin’s double bridge, two sets of readings are taken when measuring a low
resistance, one with the current in one direction and other with the direction of current
reversed. This is done to eliminate the effect of
A. Contact resistance B. Resistance of leads
C. Changes in battery voltage D. Thermo-electric emf’s

Q.89 Inan LVDT the two secondary windings are connected in differential to obtain
A. Higher output
B. An output voltage which is phase sensitive i.e. the output voltage has a phase which can
lead us to a conclusion whether the displacement of core took place from right to left or
from left to right.
C. Inorder to establish the null or the reference point for the displacement of the core.
D. BothBand C

Q.90 Ratio of the readings of two watt meters connected to measure power in a balanced 3- phase
load is 5:3 and the total load is inductive. The power factor of load is
A. 0.917 lead B. 0.917 lag
C. 0.6 lead D. 0.6 lag

Q.91  Aninverted V-curve of a synchronous motor shows the variation of
A. Power actor and dc excitation at constant load
B. Supply voltage and field current at constant excitation
C. Power factor and supply voltage during hunting
D. Supply voltage and excitation current at constant load

Q.92 A PMMC type ammeter and a MI type ammeter are connected in series in a resistive circuit
fed from output of a half wave rectifier voltage source. If the moving iron type instrument
read 5A, the PMMC type instrument is likely to read
A. 0 B. 25A
C. 3.18A D. 5A

Page 15



Q.93

Q.94

Q.95

Q.96

Q.97

Q.98

Q.99

Q.100

A 10 bit A/D converter is used to digitize an analog signal in the 0 to 5 V range. The
maximum peak to ripple voltage that can allowed in the D.C. supply voltage is

A. Nearly 100 mV B. Nearly 50 mV

C. Nearly 25 mVv D. Nearly 5.0 mV

A 8085 microprocessor based system uses a 4K ¥ 8 bit RAM whose starting address is
AAQ0 H. The address of the last byte in this RAM is

A. OFFFH B. 1000 H
C. BO9FFH D. BAOOH
The digital multiplexer is basically a combinational logic circuit to perform the operation
A. AND-AND B. OR-OR
C. AND-OR D. OR-AND
In a 8085 microprocessor, the following sequence of instructions is executed:
STC
CMC
MOVE A, B
RAL
MOVE B,A

After the last instruction, the output will
A. Rotate the contents of the accumulator ~ B. Get the contents of B register into the

and store it in B accumulator and rotate it to left by one bit
C. Double contents of B register D. Manipulate carry in A and B

A memory system has a total of 8 memory chips, each with 12 address lines and 8 data
lines. Total size of the memory system is

A. 6 kbytes B. 32 kbytes

C. 48 kbytes D. 64 kbytes

A single-phase half wave controlled rectifier has 400 sin314 t as the input voltage and R as
the load. For the firing angle of 60° for the SCR, the average output voltage is

A 40 5 0
T T
c 20 o 2
y/ T

When a line commutated converter operates in the inverter mode
It draws both real and reactive power of the A.C. supply

It delivers both real and reactive power to the A.C. supply

It delivers real power to the A.C. supply

It draws reactive power from the A.C. supply

COw>

The characteristic polynomial of a system is
q(s) = 2s° + s* + 45> + 25% + 25 +1
The system is....
A. Stable B. Marginally stable
C. Unstable D. Oscillatory

---END----
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